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QUESTION 1

Which three statements are true regarding persistent lightweight jobs? (Choose three.) 

A. The user cannot set privileges on persistent lightweight jobs. 

B. The use of a template is mandatory to create persistent lightweight jobs. 

C. Persistent lightweight jobs modify several tables in the data dictionary to generate a lot of redo. 

D. Persistent lightweight jobs are useful when users need to create a large number of jobs in a short time. 

E. Persistent lightweight jobs are useful when users need to create a small number of jobs that run infrequently. 

Correct Answer: ABD 

 

QUESTION 2

You installed Oracle Database 11g afresh. Which statements are true regarding the default audit settings in this
database? (Choose all that apply.) 

A. Auditing is enabled for all privileges. 

B. Auditing is disabled for all privileges. 

C. The audit trail is stored in the database 

D. The audit trail is stored in an operating system file. 

E. Auditing is enabled for certain privileges related to database security. 

Correct Answer: CE 

 

QUESTION 3

Which steps are mandatory to enable Direct NFS? 

1.

 Mount all required file systems using the kernel NFS driver. 

2.

 Create an oranfstab file containing the attributes for each NFS server to be accessed using Direct NFS. 

3.

 Replace the ODM library libodm11 .so_stub with libodm11 .so. 

A. 2 and 3 
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B. 1 and 3 

C. 1 and 2 

D. 1, 2 and 3 

Correct Answer: B 

 

QUESTION 4

You are managing an Oracle Database 11g ASM instance having three disks in a disk group with ASM compatibility
attribute set to 11.1.0 and redundancy set to high. One of the disks in the disk group becomes unavailable because of
power failure. Which statements will be true in this scenario? (Choose all that apply.) 

A. The disk automatically goes offline. 

B. The disk is immediately dropped from the disk group. 

C. The ASM tracks the extents that are modified during the outage. 

D. The ASM migrates the extents from the unavailable disk to the remaining disks. 

Correct Answer: AC 

 

QUESTION 5

Which three are the valid statements in relation to SQL plan baselines? (Choose three.) 

A. The plans can be manually loaded to the SQL plan baseline. 

B. The plans in the SQL plan baseline are verified and accepted plans. 

C. The plans generated for every SQL statement are stored in the SQL plan baseline by default. 

D. The plan baselines are stored temporarily in the memory as long as the database instance is running. 

E. For the SQL plan baselines to be accessible to the optimizer, the SYSAUX tablespace must be online. 

Correct Answer: ABE 

 

QUESTION 6

Evaluate the following command: 

SQL>ALTER SYSTEM SET db_securefile = \\'IGNORE1; 

What is the impact of this setting on the usage of Secure Files? 

A. It forces Basic Files to be created even if the SECUREFILE option is specified to create the LOB. 

B. It forces Secure Files to be created even if the BASICFILE option is specified to create the LOB. 
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C. It does not allow the creation of Secure Files and generates an error if the SECUREFILE option is specified to create
the LOB. 

D. It ignores the SECUREFILE option only if a Manual Segment Space Management tablespace is used and creates a
Basic File. 

Correct Answer: A 

 

 

QUESTION 7

View the Exhibit to examine the parameter values. 

You are planning to set the value for the MEMORY_TARGET parameter of your database instance. What value would
you assign? 

A. 90 MB 

B. 272 MB 

C. 362 MB 

D. 1440 MB 

Correct Answer: C 

 

QUESTION 8

View the Exhibit to examine the error while executing the REPAIR FAILURE command in an RMAN session. 
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What is the reason for this error? 

A. Another repair session is running concurrently. 

B. The failure ID has not been mentioned in the command for data file 5. 

C. There are new failures recorded in the Automatic Diagnostic Repository (ADR). 

D. The ADVISE FAILURE command has not been issued before the REPAIR FAILURE command. 

Correct Answer: A 

 

QUESTION 9

View the Exhibit to examine the error obtained during the I/O calibration process. There are no data files on raw
devices. What is the reason for this error? 
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A. The DISK_ASYNCH_IO parameter is set to TRUE. 

B. The FILESYSTEMIOJDPTIONS parameter is set to NONE. 

C. Another session runs the I/O calibration process concurrently. 

D. The pending area has not been created before running the I/O calibration process. 

Correct Answer: B 

 

 

QUESTION 10

You plan to have a larger moving window size for the default system-defined moving window baseline because you
want to use the adaptive threshold. Which statement factors in this consideration while increasing the size of the moving
window? 

A. The collection level for the AWR should be set to BASIC. 

B. The moving window size must be less than Undo Retention. 

C. The moving window size should be greater than the Automatic Workload Repository (AWR) retention period. 

D. The moving window size should be equal to or less than the Automatic Workload Repository (AWR) retention period. 

Correct Answer: D 

 

QUESTION 11

Evaluate the following command: 

SQL> CREATE TABLE design_data (id NUMBER, 

doc CLOB) 
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LOB(doc) STORE AS SECUREFILE(DEDUPLICATE); 

Which statement is true regarding the above command? 

A. The LOB values are automatically compressed. 

B. The LOB values are cached by default in the buffer cache. 

C. The LOB values are automatically stored in encrypted mode. 

D. All LOB data that is identical in two or more rows in a LOB column share the same data blocks. 

Correct Answer: D 

 

QUESTION 12

You are managing an Oracle 11 g database with ASM storage, for which the COMPATIBLE initialization parameter is
set to 11.1.0. In the ASM instance, the COMPATIBLE.RDBMS attribute for the disk group is set to 10.2 and the
COMPATIBLE .ASM attribute is set to 11.1. 

Which two statements are true in this scenario for the features enabled for ASM? (Choose two.) 

A. The ASM-preferred mirror read feature is enabled. 

B. The ASM supports variable sizes for extents of 1. 8. and 64 allocation units. 

C. The ASM disk is dropped immediately from a disk group when it becomes unavailable. 

D. The RDBMS always reads the primary copy of a mirrored extent of the ASM disk group. 

Correct Answer: AB 
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